Advanced Pre Calculus Review Practice #6

What is the complete solution to the equation For a wedding, Shereda bought several dozen
3— 6x‘ =152 roses and several dozen carnations. The roses
cost $15 per dozen, and the carnations cost $8
A x=2x=3 per dozen. Shereda bought a total of 17 dozen
oo flowers and paid a total of $192. How many
B x=-2:x=3 roses did she buy?
C x=2x=-3 A 6dozen
D x=-2x=-3 B 7 dozen
C 8dozen
D 9dozen
Izl What is the solution to the system of equations El What system of inequalities best represents
shown below? the graph shown below?
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What is the volume of the figure below?
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